020 OO0

00000000000000000000000000000000000000000 (set)
goodoobooooooobooobaon

0oooooooo A,B,CO0D0O000O000DOO0OOCOOOOOODOOOO,O0DOCO
000 (element) 000. D000 (D0)000000OO00O0OeO0O00O ADDOODOOOOO,
a€e AD0OD. 000 ADDODOOOOOOO,a¢ ADDD.000DOO0O00ASa0 AZa
uboooooogo

019 0000000 NOOO.3€eN, —2¢N

21 00O0oboogd

211 0O00000OO000000O00

00000000000 (0o00)0000oU0O000000o0DUOoUOooOoooooOooo
oooo

0 20
{1,2,3,4,5}
{5,2,1,3,4}
{1,1,1}
{{1,2},{2,3,4}}

000 10000000000 (emptyset) 0000040000 {}000000
0000000000 00000000000000000000000000000000
00000000000000000000000000
000000000: N ={0,1,2,--}
0000000000000C00000000000000000000000000000
0000000000000MN, 2,Q,RO000000000000 (0000)0000000
0000000000000 00000000

212 JO00obuooobooboouoobobbbo—gbobodgo

AOD0ODODOOOOOOOOO0ODODOOD ADODOODOOOODOOODOOOOODOODDOO
0000000000000 0O0U0O0OP(x) 000D zeADQ0OOODODOODOOOOOOOO
ooood

{re Al P(x)}

0000O0{zeR|0<z<1}00[0,1]00 (000 100000000)0000
S={reA|Px)}000000zeSO z€ AAP(x)000000000000(zeS) <
(ze ANP(z))0D0000OO
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O0: OD00000O0000000000D000OU0DOooUoDOoooooq{,2,3k04{1,1,2,3,2}
O{zeN|1<2<3}0000000000000000O000O0DOUOOOOOOOOOOO
obooooooooooboooo

213 000O00Oooon

00000000000 Uo000D (oooooo)oooo

{reA|Pz)}00{z|ze€ AANP(x)} 0 {z | Plx)Az € A} 0000000000002z A
0000000000000 00000000000'0000000000000000000
0000000000[0,1]000 {z]0<z A 2<1}000000000

000|0000000000000000000000000{e|P()}0, {y| 3y =
eAP(z))} 000000000

021 00000000000000000 {2k|ke 2} {2k+1|keZ}000000

00000 {z|P()} 000000000 Pz 0 z00000000000000000
0000D000000000000

02200 {z|z=y*AyeN}O {z|y@=y*AyeN)}0000D00ODO

22 OOO0O0O0
00 ADDO BOODODODOODOUODODOODOODOOODO,A=B0O0O0O.
Ve (re A & x€B)

00000DAO0O0O0OO0O0O0OO0 BOOUOOOO,BpOO0ODOOODDOD ADCDOODDOO A
O poooooogooon

gobobogobobboogoboboooooboobobooobobbbbooooono
gooooo

g 23

o {1,2,3} ={2,3,1}

{1,1,2,3} = {1,2,3}

{172} - {17272} - {17 172} - {1727 132}

{1,2}={z|z=1Vvae=2}

o={z|e=a+1)

00 AD0O0O BOODUOOUOOO A#4#BOUOO.0000{1,2,3}#{1,2}0

0000000000 000000 € ADD000O00D0O00000002€A000 ADDDOOOOOOO
{z | P(x)} 0000000000000 0Russell 000 (OO0 OO0)000000000000DOOOOOOO
ooo
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23 UO0O0oobood

00 AQO00 BOOUODOUOODOUOOODODODOOOOUODDODOOODODODODOODO AcBOOO
Oo0ooooBo>AQ0OOOOOOO.

Ve (te A = x€B)

0000ADDOO0OO0OOOD BOOOOOOOOOOOOOOO0O000.0000 AD BO
0000 (subset) DO ODDOO.
A=BOODACBABCADOODOOO

0 24

{a} c {a,b}
NCR

24 0JU00OOOOOO

24.1 AcBO0O0OO

000z A0 x e BODOOODODOOODODODO

0 25 Prime(z) 002 000 (prime number) 000000000000 0O00A = {z |
Prime(z) A42 <z <51}, B={z|z=4k+3AkeN}0000ACBOODODO.

ac A0000OOa=43Va=47000.

a=430000
a=4x10+43,10e NOODOOO a€ B
e=470000

a=4x11+43,11eNODO0O0O0O a€ B
ooodo,AcBOOOO

242 A¢ BOOODO

AcBUOOOOOOOODO A¢BOO0OOUODOOODOOOOO0OzeADDDO z¢BOO
OzO0O0O0O0DODOODO

026 A={3k+1|keN},B={4k+1|keN}DODO,A¢BOO B¢ AODOODD

4€A0D04¢ B
5¢BO05¢A

243 A=B0O0O0O0O

AcBOUOBcAOOO.

0271 A={z 200000 12<2<18}, B={z |k e{3,4}a=4k+1}00,A=B0O
oo.
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ACBOOD.z€AA(z=13Va=17)000013=4x3+1,17=4x4+1
BCAOOO.z€e€B,x=4x3+102=4x4+10000000,12<2z<18
oooo.

000,A=RB

2.4.4 00000 (Pigeon hole principle) (1)

ugbgbooogbobooobooobboboouobobouoobnobogd muoooooo
goooobobobo.m>n000000000100000 20000000000000040
ooooooooooooo

028 000 36v0booboobooooooobooboooooooooooboo1obooboo

029 1002,0000000000002+1000000000000000000000
00000000000000

000000D000000B={keN |1<k<20}00000001<k<2n0000 k
O00000A,={k-2°|(0<a) A (k-2°<2p)}000000000 4,0 kO 100 200
0000000000000 n00000000B=A;UA3U---UAy,_, 00000000
0000 BOOn+100000000000000000 4,00 200000000000
000000000 4,00002000000000000000000000000000
oooooooo

25 00000

oboboboobO sboooooooboooooooboooboboboooobooboOoon
gobooooobooobooobobomooomooboomooomoobmbobobooon

2,5.1 00O0OO

00 AUDOOODO (powerset) 000 AODOOOOOOOOOOOOOOOOOOOOOOOO
240 P(A)00000O0D0OO0O0O0OODODOOOOOOO

Vr. (€2t &z C A)
ooooddg «000Db0O0ODbODOOOOOObDOOn
0 30 A={a,b,c} 0000

24 = {¢, {a}a {b}a {C}v {CL, b}a {aa C}’ {b’ C}7 A}

252 0JO00OOOOOO

2000000000000O0DOO000DOOOOODOOODOOOODOODOOOn

U 000 (OO0, union)

N 0000 (000, intersection)

O0000ABODODOODDODOOODAUBO AnBOOODODODDODODODODODODOOO

goooog
ooooooooooboooooon

14



Ve.(x € AUB & (x € AVx € B))
Ve.(r € ANB < (x € ANz € B))

031 A={1,2},B=1{2,3,4} 00000
AUB ={1,2,3,4}
ANB={2}

oooooo
(a) AUgp=A
(b) AUB=BUA(DODDO)
(¢) AU(BUC)=(AuB)UC (DOODO)
(d AUA=A((QDOODDO)
() ACB& AUB=RB
(e)0ODO

(1) AcB=>AuUB=B0O0000O0O
AcBOOOOOO

(a) (AUBCBOOD)
reAUuB0O0OO0OO0 z€AveeBUOOOMO
re ADODO,ACcBO0Ox€eB
000000000000 xeBOOOO

(b) (BC AUBDOD)
reBOOOO z€eAvaeeBOOOO
000 zeAuBOOOO

(2) AUB=B=AcCBOOOOOO
©t€AD0D0D0DODODODDDNO0OO0OO z€e AUBOOODO
AUB=BOO zeBOOOO

Oo0ooooo

(a) ANg=2¢

(b) ANB=BNA(0DODD)

(¢) AnN(BNC)=(ANnB)nC (DO0ODO)
(d ANA=A((Q0OO0D0DO)

() ACBs ANB=A4A

ooood
(a) AN(BUC)=(ANB)U(ANC)

(b) AU(BNC)=(AUB)N(AUC)
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2,53 0O0OO
00 ADDO BODOUODODOD A—-BOUODOODOOODDOODOOOODOOODOOOO
Ve x € A—B< (x€ ANz ¢ B))
0 32 A={a,b,c},B={c,d} 0000 A— B={a,b}

000000000000000000000000000000000000000000
O00O0(AUB)-B=A0 (A-B)UB=A00000000000

2.5.4 000 (1)

oooobooobooobooobooboooobb 10co0obooobobbobbobboboooo.
000000000000 00000000000000000 NOOOOODOooOo

0000000000 ADDDO0OOOO0O0,A00000O000O0O0 ADOOO (complement)
000,A000. 00000000000 O000000A=0U-AD000000000000
uboaboooboooooooan

Vz.(z e Asa g A)

oooooOoOooDboboO0veO 000000 ODOOUODOO

gooooo

(g AUB=ANB, ANB=AuB@O0O00000ODODO)
()ooo

ACcB=BcCcAOOO

+€BO0000x¢BO0DO000 2¢ADDOOOOOOOOOzEA
AcBUOO xeBOOOOOOODOO

O00000zeAOOOO

BcA=AcCcBOOO
r€eA00D.»¢BO0O0O0O (0000 z€B),BCcA00,z€A 000,2¢A
000,00.00000,z€eB. 0000 ACB.

2,5.5 0O0OOOOO
O (0O00Otuwple) 0000000000000 000OO0O0O0O0OOOODOOOOOOO (1,2,3)

gboobooooobbooooobobooobooooooooboooobobOooogon
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0 33
e (0)..00000000
e (0,1,1) ... 3000000000 ((0,1)00000)
e (0,1,1,1,2). ... 5000000000 ((2,1,1,0,1) 0000000000)
e (00000O0DOOOOO.

000 200000 (ODO0Opair)000. O (21,29,...,2,) 0000, 2,0 i 000000
go.
OO0 A0 BOOOOO (cartesian product) Ax BOOUOOOOOOOOOOOOOO

Vz.((z € Ax B) < 3z Jy ((z=(z,y)) Nz € A) A (y € B)))
gogoobobobobbobooobboooobboobobbbuoouo
Yo Yw ((v,w) € Ax B< (ve AANw € B))
0 34 A={a,b}, B={0,1,2}000.

A x B = {{a,0),{a,1),(a,2), (b,0), (b,1), (b,2)}

PxB=Bx0=10
00 4,,...,4,0000,0000000000.

Alx...xAn:{<a1,...,a,n>|a1€A1/\"'/\@n€An}

n

—_——
00 A0n0000 Ax---xAD A"0000O

A={O)N0O00 ¢oDDo00)

Al ={(a) |a € A}

035 A={0,1}000.

A" ={(}

Al ={(0), (1)}
A% = {<070>’ <071>7<170>’<171>}
A'0 ADDDDOOOOOODODOOO?20

2000000000000A'=A0000000000000
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26 0000000000 (1)

ubogbuboboobbooobbobbbobboboboboboboobobooobobonn
gooboobobooboooooooooboboboboobooobboobboobobon
oo0ooU00O000oO0o000 (DoooOo)obooooooo

00 AD0O0OUO0O0OO00O (00000, denumerable) 000 AODDOOOOOOO100020
003000---000(000000000)000000000%M0O00000000000
A0OO00O0DOOO0OO0O0ODOOO0O0ODAUOODODOOODOOOODODOOOODOOO

036 00000000000 NOOUOOUOODOOUOOD0O0ODODO0oooooooooooooo
ooooo zoogooooooooooo,,-1,2,-2,---000000000000000O
cOO000O0O0U00OO0O0O0O0O0ODOOOO0OO0OUUO0DODO0UDO (OoODOoDUOooODOooo

gocO0OO0U00U00oo0o0ooOoUo0oooUoO) 000000 ooo0ooooooood

00000000000 0DODODOOODOOO0OO0ODOASCIIOODOO0ODOOOOOOO bit

000000000 00000oD (D0o0000)100D000D00D00DooDOoo0oUooOoo

go0cUo0O00000o0O000000o00U00o0000UOO0U0 (oooooooo

ObtOODOO0OOCOOOO0O0OODO00D0D0O0OO0oDooooon)d

oo 1
e 00 ADDDDDDOODDODODADODOOD (countableset) DO OO
e 000D DODOOOOOOOOODOOOODOOO
e J00O0DUDOOD,0O0O (uncountable) 100000
0 37 0000000000000 NODODOOOODOOOOODODOOOODOooooo

038 00000000 {zeQ|0<2}00000000.

O N T [
TN =N
=l

000000000000 O00. (0Obo00oU0 20000000000 COOOOUODOO200
ooooo0oooooooon)

039 000b0boooooooobobooobooooobonooono

A=AgUATUAU---UA,U---

0000, 4, 4,,---0000000000,

Ao = oo, ao1 ao2
A= aio, ann
As = ao,

300000A00D00O0D0ODOOOONDOOON -—AD000000000000000000000O00O0O0DOO00
ooooooooooooo
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oo, o1, a10, G2, a11,--- 0000 0000000000000 000OCOOO00O0. 00O, 4
0oooo4o

goboobooobooboooobooooobooboboooooooooobooboboooooooo
Oo0o00o0oobo0oo0obo0ooooooobob0 goooooooobooooo

0000000000000 00DO0Oooooooooonooonoooo 2Vooooo
oooooooo

oo 12Vooooooo.

go

Tz?MDDDDTDDDDDDDDDDDDDDDDDDDDDD

0000000,70000, 8,58, -+,5,,---0000000000000000
00000 vooo.

V={neN|n&S,}

vooooooooooveNDOOOooOveTOOOOOOOOV O Sy, Sy, -+
oo0oo0ooooooov=sS,00000000

keV & k&S5
& k¢EV

Oo0ooODDOOoODOkeVODOOOOOOODOOOODDOOOOODOODOO

gooooooooooobOoOooroobooooobooOoboooTroooooooon
ooooogo

0000000000000 0000000000000000000000000000
0000000000000000000 ROOODOO00000000000000000
00000000000000000000000000000ROOO0000000000
0000000000000

oo 2N oooooooDODO0OODOOOD ROOODOOOOO0OO0O00O0

ooo Ae2VNoooono

0.do 0 dy 0y 0---

000 20000000000000%00004;0 ADDDODOODOOODO0D (00
00 100000)0000

4 _ ] 1 icanoo
‘" lo0 i¢gAO0OO

oooooooobooooo

0.1000100010001000 - - -
gboboooobobooooooooooon

0.0010001000100010 - - -

40000000000000000000000000000000000000000000000DO00O0
5000000000 dod;..000010000 00000000000SO000000000000000000
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